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+2x =3y + 10& T=3He Fo H47tx =a, y =<2
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xy 4+ 2x -3y =10, xy + 2x — 3y — 6 = 4,
(x-3)(y+2) =4

y+2> 30|52 £ A150] Fo] 47} H A9k
x=-3=1,y+2=4

Lx=4,y=2




2. a(b®-c?) +b(c? - a?) + c(a® - b?) S AEalotH?

@® —(a=b)(b-c)(c-a) @ (a=b)(b-c)(a-c)
® —(b-a)(b-c)(c—a) @) (a-b)b-c)c-a)
® (a=b)(b-c)(c+a)
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(FA) = (¢~ b)a® + (b* = *)a+ be(c - b)
= (c—b){a® - (c + b)a + bc}
=(c=b)(a-b)(a-c)
=(a=-b)(b-c)(c—a)




